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* Design speed V, = 40 mile/hr.

* The acceleration and deceleration rates are
the same a, d = 11 ft/sec?.

oy;ﬁm‘aﬂjujuxe&gm‘yzwsmuuhuﬁyw@_ﬁ&é’\;&sy@zg&}lﬁ\i&éw\dﬁb\ (¥
'&/MMUJMM\;@U\.YOM\mJ,@\;iEu;smmcbgwwH\V.L@Jj):j
A el 8 2y g Jide pudl conl |

;Lcwsmg\s\sx@)uuj}u\d%ﬂemuﬂ%i‘quzﬁa,gs@w&memm gl

(f=0.3) Ll ¥ Jadll 5, 5 &) 0 233 Gl g de b/ aeV Y gl

-

iU'AjC'_)J\A Vo JL&,}UQ\J}_\N@}QJ]PQ MQ\JJJ\%QJ\#\ dac Q\ .\;ijLUiEM\)J_\AL (V

(£=1.96).8 5iall o 581 &l gall g g 35 (1 aaa J gaall b LS gl

[l Glady) |y 1 ° ¢ Y Y \ aaliil) 3
Y V. 1 A q v ° A | U Ol Aa |
Y A Y 1 q Y A

L

° Wl gl Aats |

Adagiall Lpaddedl) Sila 34)
Question No.
1

 A1,A2,B3,C2
A-3,B-4,B-5,C-1,C-2,D-3. D-6

B-4,B-5,A-4,D-4, C-1
A-2,C-3,B-4, D-5, C-2 ]




